F=E H42 EBE BE | FH FREE BIETE famaxlESTlE Kikk1L FUTTERE Z D1
AR 1~585%E BHFE | 5F 340m A=ykAR ) o EE7oTF
B 1~552E H{E | 5F 34.0m i Benly] VAVS ® o HRATTTS
CH 1~45= B | 4F 36.5m i Bt VAV-S o [ HEAT7VTF
Di& 1~4B= BHE | 457 36.5m aA=ykRR o o HEATUTTS
Eff 1~65=E fHFE | 6F 340m A=ykAR ) o EE7oTF
FHR 1~65%E BE | 6F 34.0m By} VAV & ) o HEATTF
I 1~45E H{E | 4F 39.4m i Benly] VAVS () o HRATUTTS
JHE 1~45= & | 4F 39.4m i BtV VAV-S o (] HEAT7VTF
RE K#g 1~48% BE | 4F 39.4m i B VAV-S [ () HRATTTF
L 1~65%E BFE | 6F 36.5m A=Yk R ) o HEATVTF
MAE 1~55% & | 5F 39.4m i Bt VAV-S () () HEAT7VTF
NER 1~45=E fBHFE | 4F 41.5m A=ykAR ) ® EE7oTF
Oof%& 1~15E BE | 1R 41.5m A= YkAR o o HET7TF
P 1~55%E BHFE | 5F 415m A=Yk R ) o EE7oT7
RE 1~55%E = | 5F 49.6m A=ykAR ) o EE7oTF
SHE 1~715%E = | 1R 49.6m By} AV & ) o HEATTF
TH 1~7T8%E H= | 17 49.6m i Bt VA8 o ([ J HKETTF
AR 1~58% ®m= | 58 55.4m L L GRERY) Tl
iR BiE 1~45= B | 4F 55.4m Tl L CGRERY) Tl
CHE 1~585%F Hm= | 58 55.4m L L CGRERY) Tl
EEASE Al~ALEE H= 4f 58.8m: 1:\yl~/i:/’< (] ([ L
A5~A105=E H= | 68 58.8m i B} VAV 8 ( o L
Al 1.2, 48% Hm= | 3F 58.8m L L o L
IBE H=Z | 1R 58.8m A=wkAR () ) A
Bi# 1~48%E = | 4F 58.8m a=yhkAR ) (] L
EK cig 15E B/ | 4F 62.2m i Bt VA8 o o L
2~48E B | 4F 62.2m HL L o L
Dl 15E B/ | 1F 62.2m L L o L
25E Hw= | 15 62.2m fn Bl AV 4 (] o HL
AR 1~45=F A= | 4aF 68.8m BEHY () (] HEAT7UTF
- B 1~48E A= | 4F 71Am BEHY (] o HEAT7VTF
CHE 1~48E A= | 4F 72.8m BEHY (] (] HEAT7VTF
DI 1~58% A= | 58 745m BEHY (] ([ HEAT7TF
*01 *04B = it [ 67 69.8 A=Yk R o o HEATTF
*02 *03 5 = hfifem | 8F 64.3m i Benly] VAVS o o HRATTTS
4045 E i | 17 76.3m aA=yhkAR ( o HEATTF
N Spaled *05 ¥08 &= it | 6F 69.8m aA=wk/AR ) () HETTF
*06 *07B = hifitm | 87 64.3m A=wbk/AR o o HRT7UTH
4055 FE it | 17 76.3m aA=yhkAR ( o HEATTF
*11 %125 % M= | 4F 68.4m A=yh/AR [ ) [ ] HREATUTF

MEEEHFEKR (RE.4.1)




F= il BE | FH FREE BIETE FUTTERE Z D1
1MBE hi=| 17 69.8m BV XE ( r—JITLE FuF BT HRIG
- 112~1348% = | 117 69.8m aA=wk/AR ® F—JILTFLE
211~2345 = = | 127 69.8m A=wk/\R ) r—JITLE
311~3345 = = | 127 69.8m i Benbly] VAVS o r—JILTLE
#FELO DI~D165 % fit= | 1658 63.0m aA=wkAR ) HREATUTF
- FI~F55 = = | 57 55.4m Gl ® T—7ILTLE
= F6~F105 % ®m= | 58 55.4m L () r—JILTLE
G1:-G2-G3-28% ®m= | 3@ 63.1m L o r—JILTLE
G3-G55=E B\ | 2F 63.1m i Benbly] VAVS ) r—JILTLE
G8BE m= | 1F 64.9m L o r—JILTLE
G6-G7-GI~G158= B/ | 9F 64.9m fn Bkl AV & o r—JILTLE
il G16~GI85 = ®m= | 3@ 64.9m =9k R () r—JILTLE
GI9BE m= | 1E 64.9m L L o r—JILTLE
G20~G245 = BH= | 57 69.7m fn Byl AV & o o r—JILTLE
G255 F m= | 1E 69.7m L L o r—JILTLE
G26~G305 = BH= | 57 69.7m fn Byl AV & o o r—JILTLE
101-1048 % R | 25 55.4m aA=yhkNR o o r—JILTLE ILAR—E—HY, TvFU BT HIE
" *025 % hfitem | 4F 59.1m dA=whk/AR () () r—JILTLE ILR—53—HY
ek 035 E hfitem | 4F 44.0m dA=whk/AR o ® r—JILTLE ILR—53—HY
*01 *045 = it | 6F 59.0m A=whk/AR o ) r—JILTLE ILR—5—HY

MEEE

i@k (R5.4.1)




